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3m 12~1 3cm HH A 7. 000
3m 14~16cm 1E-/NgH 12 000 14, 000H
3m 18~22cm & -/ 12 000 15, 000H
4 m 10~1 3cm HH A 9, 000MH
4m 14~16cm 1E-/MgR 10,000 12, 000
4 m 18~22cem 1B -/ 12 0001 14, 500H
4m 24~34cm B -/0Ngg 14, 500M 17, 000M
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3m 12~1 3cm HH A 7. 000
3m 14~16cm 1&E-/NgH 14, 0001 17, 000MH
3m 18~22cm &H - /\Ef 15, 500H
4m 10~1 3cm HH A 10, 000
4m 14~16cm 1E-/NgH 15 000H 19, 000
4m 18~22cm & -/NgH 15 0001 20, 000H

A BR 2 A S

BAEXRF : BEERIEMPEMSTHFIHR/\AAN2 3

TEL 0884—-—62—-0097
FAX 0884—-—62—-0136




